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"THT=T 3397 :

Rl 1339 @1 dga araer @ 9ieu 3R 37T T & g it :

(i) 3G I7-97 537 §97 & | @4t yo7 SfAarst § 1

(i) T8 YIT-97 T: G@USI A QYo7 8- @WUe®F, @, 7T, ¥, FUT o/

(ili) WIS F — 97 &I 1 & 20 T Tgascdid o7 & | J4% J97 1 37 &7 & |

(iv) WIS @ - 97 &7 21 @ 24 3717 TY-FT0T 97 & | JAF J97 2 3% BT 8 |
Y Y97 %7 I 40 Jisq] 7 Iofaw |

(v) @UE T — J¥T &I 25 T 29 T TG-ITIT FoT & | TP JoT 3 37H BFTE |
e ¥97 %7 I 60 Isq] 7 [ofaw |

(i) WIS — J97 G&I7 30 G 33 -3 97 & | I 97 5 37 &7 & | I Jo7
7 3T 120 Ir55] § fifEw |

(i) WIS T — J97 G&I7 34 T 36 FH-HTRT J97 & | Icd% J97 & &I9 3 — 3 F7-J97
g | 5 g% Jo74 3FH HT & |

(viii) U T H 97 G&IT 37 FHIGHA-STERT 8 | T8 J97 5 37 &1 &, I 19 sfazra @
(37(%F) - 2 37%) ToT YT (37(@) — 3 37%) & Tafea & |

(ix) ¥o7-99 § 5T T FI5 [9%c9 761 & | a4, $& I9491 4 Hake [@Hcq 57 77
8 1 08 ¥l 4 @ &aeT v §1 [AdeT &7 IR [7ET |

(x)  3GF AR, HETTIHAFER, J9% &GI8 3N Jo7 & &< e [337 7T 10 § |

WUE F
(sgfareeda T9a) (20x1=20)
1. 3 %A IR (A) A SR (R) & &9 § feu 7w F | ST el &1 gfeu 31
3 & fou @&l faereq w1 =—m i

SHHIT (A) : NG H Tgaad oFae 7 |
FRU(R):  EHI I g Toh YRA H FHINR 3N Wimiferss fafagam @ |

%qu:

(a)  SAHAA (A) AR HROT (R) THI T&l 8 3R HR (R), AHHA (A) FH
& SUREIT HdT & |

(b) AR (A) IR HR (R) GHI Fal 8, Tq HRO (R), AHHAH (A)
T AT 73T L @ |

(c)  ANTHA (A) HEl B, T SR (R) TAd 7 |
d) REE (A) TG 8, T RV (R) T 7 |
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This questions paper contains 37 questions. All questions are compulsory.
(it)  This question paper comprises six sections — Sections A, B, C, D, E and F.
(iti) Section A — Questions no. 1 to 20 are MCQs of 1 mark each.

(iv) Section B - Questions no. 21 to 24 are very short answer type questions,
carrying 2 marks each. Answer to each question should not exceed 40 words.

(v)  Section C — Questions no. 25 to 29 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 60 words.

(vi) Section D - Questions no. 30 to 33 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

(vii) Section E — Questions no. 34 to 36 are case-based questions with three
sub-questions and are of 4 marks each.

(viii) Section F — Question no. 37 is map-based, carrying 5 marks with two parts,
37(a) from History (2 marks) and 37(b) from Geography (3 marks).

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

(x)  In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Multiple Choice Questions) (20x1=20)
1. There are two statements marked as Assertion (A) and Reason (R). Read

both the statements and choose the correct option as your answer :

Assertion (A) : India has a multiparty system.

Reason (R) : It is because of the social and geographical diversities in
India.

Options :
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

32/5/2 3>

o
:sfﬁﬂ P.T.O.

E1E
Bl

Get More Learning Materials Here : & m &) www.studentbro.in



2. Trafafed # 9 SH-A1 SArehdi=e TR & g § T8t 757 & ?

N o

(a) AThdIsIoh TLEhR I ITEH % |

(b)  AlehdiEeh ThR SO TR 2 |
(¢c)  <Iohdif=eh ThI ANl hl TEhHE & |
(d) I8 Tl % GUR ol e TE &l B |

3. diferent ® feu U aAieRgl 1 939 HIfS 3R oo A hl 3gd A 3™
HIST | g& faered w1 == HIfST |

T <M o ANTRERT <hl ATfEeh ST (91 H)
NEq
1 11 111 IV \Y
%5[ A 10500 9800 9500 10000 10500
%5[ B 6000 6000 6000 6000 50000
%ITVCI :
(a) 9500 (b) 10000
(¢) 10500 (d) 10060
4.  SfcsrEm i TEEAT % fohdd gfaed o vl & | ®d 8 2
(a) 40% (b) 80%
(c) 59% (d) 70%
5. qda1 ose for fAmferfaa O 9 forment o gra wdier 9t S wehar 2 | E 1 faehey
T IIF HITIT :
I.  HshIoeh SETET & qof geen
IL  YGYU-Hh JATeRyl
III. 3= Toraar areft forem
IV. 3AHCES 0
IEETR IR
(a) I3RIII (b) IIIMIV
(¢) IIWIV (d) I3MWII
[OfH O
32/5/2 < 4> Bz
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2. Which one of the following is not true about a democratic government ?
(a)  Democratic government is a legitimate government.
(b)  Democratic government is a responsive government.
(c) Democratic government is the people’s own Government.

(d) It does not allow room to correct mistakes.

3. Read the given data in the table and find out the average monthly income
of Country A. Choose the correct option.
Monthly Income of Citizens of Two Countries (in Rupees)
I 11 III v y | Average
Income
Country A | 10500 9800 9500 10000 10500 ?
Country B | 6000 6000 6000 6000 50000
Options :
(a) 9500 (b) 10000
(c) 10500 (d) 10060

4, What percentage of the population of Belgium lives in the Flemish

region ?
(a) 40% (b)  80%
(c) 59% d 70%
5. Select which among the following cannot be purchased through money.
Choose the correct option :
I. Full protection from infectious diseases
I1. A pollution-free atmosphere

III. High quality education
IV. A luxury home

Options :
(a) Tand III (b) Il and IV
() TandIV (d TandII
[ {55
32/5/2 <5 > Bge P.T.O.
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6. A= & T aiferent § 3Tergl 1 I1eTEH iU 3R I w1 I HEl femeu
= R fafau |

HIH-H1 T8 TEeqUl & 8 S Gl bl Tfehad USHTR JgH hidl & ?

(a)
(b)
(c)
(d)

dTlereT — a1 &7l 3 SR (fferr 1)

BEED giried e T
BIPIEED 1 231 232
fadie 41 74 115
LRIRED 40 88 128
T 82 393 475

Tfires &k, fomiye TTfed &
fediren &reh, foiwet Tifed &mres
Jetareh &eh, fersrveht wmfea &meh
Tfires &k, fomivent smEmfsa &k

7. ‘A%, S % U 96 FIfd S aTel 3TN T T AU 3 | 98 TRy o,

yfesy ffyr, faferean sraeprar, snfe St gfawmd urg wear 2 |

‘A TfaRad &mehl § 9 foraH SR @ 7 ?

(a)
(b)
(c)
(d)

8. ¥NRd ¥ f=fafgd et § 8 w9 -l die frifaa wtar @ 2
AT <hl heid TLHT

(a)
(b)
(c)
(d)
32/5/2

Tfier &seh
TR &5
ifed &

TS &5k

dfa st
IESKEINE
TRt fisrd de
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6. Study the data given below in the table and answer the question by
selecting the correct option.

Which is the most important sector that provides maximum jobs to the
people ?

Table — Workers in different sectors (in millions)

Sector Organized | Unorganized Total
Primary 1 231 232
Secondary 41 74 115
Tertiary 40 88 128
Total 82 393 475

(a)  Primary sector, especially organized sector
(b)  Secondary sector, especially organized sector
(c) Tertiary sector, especially organized sector

(d)  Primary sector, especially unorganized sector

7. ‘A’ is a worker in a garment export industry of Jaipur. He gets facilities

like health insurance, provident fund, medical leave, etc.
In which one of the following sectors is ‘A’ working ?

(a)  Primary sector

(b)  Non-Governmental sector

(c) Organized sector

(d)  Unorganized sector

8. Which among the following organisations issues the currency notes in
India ?
(a)  The Central Government of India
(b)  The NITI Aayog
(c) The Finance Ministry
(d)  The Reserve Bank of India

32/5/2 71> Bge P.T.O.
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9. HRAT §SH 95d S¢! IgUNKE HEH g S ARG H WE dd hl g9H Tl
3ITICh 3 | I8 Ul FHfaRea 7 @ ferm e <1 @ 2

(a) L d
(b) @
(¢) e feem

(d) G IH TsT AR

10. ‘G 3R H9R WRNReh 5 et i ufshar i Hefaied § 9 fRe ale
| Failee id R 8 2
(a) g = oI I W el i uge
(b) 3R % S I FH UGl K U5
(c)  GFRM < oIl e HaTSAl h T
(d) g % S T deohral IS hl ugd

o

11. Tr=fafad vgqeni # sie g0 SHawT 1 YR -1 o1 ?

(a)  &fTep sawen
(b)  HTEHiceh HIEAT
(c)  Tiefeh aee
(d) TfaeTies sawe
12. FAffed § @ SH-H IEas g9 g8 e g St 715 off ?
(a)  =UgFE (b) 3R Sftam
(c)  Smgferet (d) =
13. THfEd § | fohe 1928 § IRGIel | TREM SATGIeH 1 qcd fora ?
(a)  ©TET THTEG
(b)  TETEATA TEE
(c) |uW dg o
(d) FoAUHTS e
32/5/2 Bz
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9. Cargill Foods, a very large MNC, is the largest producer of edible oil in

India. Which one of these countries does it belong to ?
(a) India

(b)  France

(c) Great Britain

(d)  United States of America

10. In which one of the following ways has ‘information and communication

technology’ stimulated the ‘globalisation’ process the most ?
(a)  Access foods across countries

(b)  Access raw material across countries

(c) Access services across countries

(d)  Access information instantly across countries

11. Which one of the following aspects was the base of the Bretton Woods
system ?
(a)  Military system
(b)  Cultural system
(c) Economic system

(d)  Historical system

12. Which one of the following books was printed first by Gutenberg ?
(a)  Chapbooks (b) Amar Jivan
(¢c)  Bible (d)  Almanac
13. Who among the following led the peasant movement in Bardoli in 1928 ?
(a) Baba Ramchandra
(b)  Jawaharlal Nehru
(c) Subhash Chandra Bose
(d)  Vallabhbhai Patel

32/5/2 <9 > Bge P.T.O.
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14.

15.

16.

17.

18.

32/5/2

HIHEH T ®9ehl & fovw § Fefaiaa @ 9 -1 98 787 8 2

(a)  3HehT A9 HRISTH o1 |

(b) 38 SrETEl shifed H 9T foram |

(c) I8 TSI Wehdl a1 Udieh ol |

d) 3ueh Bfd fieen ot fesrel W 2ifera i T8 |

& I 1 FIH HINT |

(a)  oAfeehlerd fatg BN — YU & F9-98 THSI W h! I 2

(b) e g FN — Thd HHA ITTGH Y hi ST 3

(c)  aTuIfSTe HfY — gHeh Faslt w1 Ak 91 | ITFM Fial 8
(d) 9o By — i & BT Y-9HT W A A B

gSie W&JoT SAaEm e o foran e o ?

(a) 1972
(b) 1978
(c) 1980
(d) 1985

UGS, TAlETe AR AMSI S8 TsAT H YW &0 & J&T S0 hl Ioci@
HIfT |

(a) Afd aTE
(b) @dq

c) aifd fa=ms
(d) @ gk

T 1956 § wiia oAfufem g vt d ffafga & & W wm
STTTerehTiEh HfYa <l 715 off 2

(a) dHe (b) Togett
c) &4 @  sh
=
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14. Which one of the following is not true about the female allegory of
France ?

(a)  She was named Marianne.
(b)  She took part in the French Revolution.
(c) She was a symbol of national unity.

(d) Her images were marked on coins and stamps.

15. Choose the correctly matched pair.
(a)  Primitive subsistence farming — practised on large patches of land
(b)  Intensive subsistence farming — single crop production farming
(c) Commercial farming — use of higher doses of modern inputs

(d)  Plantation farming — practised on small patches of land

16. When was the Wildlife Protection Act implemented ?

(a) 1972
(b) 1978
(c) 1980
(d) 1985

17. Mention the main reason for land degradation in states like Jharkhand,
Chhattisgarh and Odisha.

(a)  Over-grazing
(b)  Mining
(c) Over irrigation

(d)  Mineral processing

18. Which one of the following languages was declared as the official
language of Sri Lanka by an Act passed in 1956 ?

(a) Tamil (b) Sinhala
(¢)  Hindi (d) English

32/5/2 11>
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19. Tr=fafRga 8 @ sH-a1 foaerey fag =t @ o6 vra v sed-uefig Tsu 8 2
I. g o uq 31fees sl i g
II.  o7ehl s fowd o o 9
[II. g 3R STl & o fawa =1 gu faawon
IV. i AR IAd &g o I8

foehey

(a) L IIISRIV
(b) I IIRIV
(¢) II, I ARIV
(d L II3FRIII

20. FafdRad oAl 4 9 SH-A1 98 777 7 2
(a) Hfag g9 o YR R oy I a1t forel IehR o WewTd <l Uehdl B |

(b) Tfaud &4 fordl oft i & uleM 1, TR HE 3N T Ired Hid hH
HTATE] ST & |

(c) R dfggr enfifes TgeRl o a9Ha gHfTad & & fore e =i
TfHeh AT H @ a4 hl YR a1 2 |

(d) Ffag™ % AR g¥ i H i TSHIT F geres T8 foham ST Fehat 7 |

LCLCRC|
(3t wg-3iiT wea) (4x2=8)
21. 1929 i TEWE ¥ 9RA FoRE TR THTfe g ? SAme HifT | 2
22. (%) ‘I Hl Fud & S 9 HEAT 7 || 39 HYF Y gfee i | 2
rera
(@) NIERETd Sl & Gl hT G HAT G0 hl AT w1 8 ? T8
hHIfTT | 2
23. ‘Orciehdr Use & foTu gifieeres 2 || samen i | 2
24. T gk H AU TSR A A o HIs gl 39T AT | 2x1=2
32/5/2 12> Bz
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19. Which one of the following options prove that India is a quasi-federal
state ?

I. More powers with Centre

I1. Residuary subjects with Centre

III. Equal subjects with Centre and States
IV.  Currency and Railways with Centre
Options :

(a) I IITandIV

(b) L IIlandIV

(¢ II,IIandIV

(d I, IIandIII

20. Which one of the following statements is not true ?

(a) The Constitution prohibits discrimination on the grounds of
religion.

(b)  The Constitution allows us to practice, profess and propagate any
religion or not to follow any.

(c) The Constitution of India allows the state to intervene in the
matters of religion in order to ensure equality within religious
communities.

(d) As per the Constitution, religion can never be separated from

politics.
SECTION B
(Very Short Answer Type Questions) (4x2=8)
21. How was India affected by the Great Depression of 1929 ? Explain. 2
22. (a) ‘Energy saved is energy produced.” Support the statement. 2
OR
(b) Why is there a pressing need to use non-conventional energy

resources ? Explain. 2
23. ‘Communalism is harmful for the nation.” Explain. 2

24. Suggest any two ways to create more employment in the rural sector. 2Xx1=2

32/5/2 13> Bge P.T.O.
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wugs 1

(Fg-3w{ra I ) (5x3=15)
25. 9RA H 9H Il o A o HTHI T IS THTE! i JUM hig | 3
26. YA H "gsh Uided, 31 Uidsd & areql i ST e Heweyel w7 2
e HIT | 3
27. (%) YA ASTIEAT W JFHEIN IS o foheal dH JuTal bl T
HITT | 3x1=3
Jroran
(@) 9Nd & &nm g Uele U o1 foliy fora wehr feobem o 2 9 3ereeon
Tfgd wase T | 3x1=3
28. Wlhdd WA, fopH TR ATTRERT hl STavgeshdreti 3T STmemedl & fd frer
3R IRl 7 2 fovemor i | 3
29. wiafhes, fgdias R qdftass aFs fhe TR whg@l W fft 8 2 =
HItT | 3
QU o
(Srd-3wria o) (4x5=20)
30. (%) U fhH TR ThNIHS N TohRIcHs YHehT Fumar g 2 3gewn Afgd
TS SHINT | 5
roran
(@) THIS FRUMYR R g ? Ig THal Dl Sl F KO o T Uehd &1 &
HO FT g ? T HINT | 1+4=5
31. (%) 3T K afcafd & gwifda @ ad ol aie Sl 6 =T
HITT | 5x1=5
arera
(@) g 3R A YU % feheal qi HROl shi e i | 2+3=5
32/5/2 Bz
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SECTION C
(Short Answer Type Questions) (6x3=15)

25. Describe the impact of flexibility in the labour laws on the workers in
India. 3

26. Why is road transport more important than the other means of

transportation in India ? Explain. 3

27. (a) Explain any three effects of Non-Co-operation Movement on the

Indian economy. 3x1=3
OR
(b) How was the Rowlatt Act opposed by the people of India ? Explain
with three examples. 3x1=3

28. How is a democracy accountable and responsive to the needs and

expectations of the citizens ? Analyse. 3

29. How are primary, secondary and tertiary sectors dependent on each

other ? Explain. 3

SECTION D
(Long Answer Type Questions) (4x5=20)

30. (a) How does credit play a positive and a negative role ? Explain with

examples. 5

OR
(b)  What is a collateral ? Why is it a main reason to prevent the poor

getting a loan from banks ? Explain. 1+4=5

31. (a) Explain any five factors affecting the location of industries. 5x1=5
OR

(b)  Explain any five causes of air and water pollution. 243=5

ELE
32/5/2 <15 > Bge P.T.O.
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32. (%) <A % TR i Tishan it e Hifu | 5

T
(@) 1830 I W WU H fohd ThR W ATh hicATSAT Tioht AT ?

ST $HiT | 5

33. (%) YNA T USHITde gail o H& fohegl ure Al hl SRS HIT | 5x1=5
Ty

(@) TSHIfah gl o fohral 9id @ T hl AT HIT | 5x1=5

wus &
(SFE-3TTeTRE W9 (3x4=12)

34. fou U 3o 1 4aq FifSw R 3He = feu U e & 3w fefeu

SfeeE® Y 1 Th BIE-A1 ¢ 3, &% § gaN A Ts9 § Hf B |
3ghl T i, Hietds, SHAT 3T dAFHel ¥ ol 8 | $Eeh! AWK Uk
HUS T AST ATTh g I gREImon 6t S7ed) ¥ Hie oefi | B A W
A 1 S A 950 A 8 | oU hl HA HAEG 1 59 HrEEr faean
FATIY ATk W TEaT 8 3R S Siaidl 8 | AW 40 HES &N a1 o &
g 3N %9 dIAd & | IV Th B AN A SiAd & | TSEH SEed 6
80 BIEE T e siid & M 20 HIEE <N S |1 |

(34.1) Sfceray &t AT AT 1 T I | 1

(34.2) ST Wee hl AT HIFWT | 1

(34.3) Sfcem & GHR AT AT TR ol fha TR g foha 2 wuse
T | 2

35. fau U Iguur 1 a4 hIfSU 3T ITes A feu U gl & I fAfgu

TS | Ug] huST i 1854 H &7 3N & 1A 91¢ 3UH 39T B o |
1862 % I&f Ul 9R fei M R @ o | ITH 94,000 TeRieRT IR 2,150
H F | I T T | e el go ol | 98T g 6l uget s U 1855
H S el 7 "o 91g 1862 H =] g8 | I WRd H Tl firel 1860 % ¥
H HEAR H Gl | 39 I W d1¢ GGG ohl Jgcl! Huel Ha i =] &
TE | 1874 H Hg™ H ot ygeht hars 3R ATE et ga TS |

32/5/2 Bz
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32. (a) [Explain the process of unification of Germany. 5
OR

(b) How were the years of 1830s of great economic hardship in
Europe ? Explain. 5

33. (a) Explain any five challenges faced by political parties in India. 5x1=5

OR
(b)  Explain any five major functions of the political parties. 5x1=5
SECTION E
(Case-Based Questions) (3x4=12)

34. Read the given extract and answer the questions that follow :

Belgium is a small country in Europe, smaller in area than the state
of Haryana. It has borders with France, the Netherlands, Germany and
Luxembourg. It has a population of a little over one crore, about half the
population of Haryana. The ethnic composition of this small country is
very complex. Of the country’s total population, 59 per cent lives in the
Flemish region and speaks Dutch language. Another 40 per cent people
live in the Wallonia region and speak French. Remaining one per cent of
the Belgians speak German. In the capital city Brussels, 80 per cent of
the people speak French while 20 per cent are Dutch-speaking.

(34.1) Explain the ethnic composition of Belgium. 1
(34.2) Explain the term ‘ethnic’. 1

(34.3) How did the Belgian Government solve their ethnic problem ?
Explain. 2

35. Read the given extract and answer the questions that follow :

The first cotton mill in Bombay came up in 1854 and it went into
production two years later. By 1862, four mills were at work with
94,000 spindles and 2,150 looms. Around the same time, jute mills came
up in Bengal, the first being set up in 1855 and another one seven years
later, in 1862. In north India, the Elgin Mill was started in Kanpur in the
1860s, and a year later the first cotton mill of Ahmedabad was set up. By
1874, the first spinning and weaving mill of Madras began production.

32/5/2 7> Bge P.T.O.
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(35.1) UgA! huet et wa | e Tenfua 1 8 2 1

(35.2) W % Rl 3 IRfFieh SeTaREl % T e | é+é=1
(35.3) WRA % 9gd ¥ SATHRT IS TR & AQ T hg MR R0 *
a1e W) ford TR 39T 1 Hid @ 2 T il | 2

36. feu mu 3gwur A1 yed hifSu 31 35k = feu u gt o Ior fefgu .

IT=H IRd H 3Ichse ey A o S| S 9Uey e ol 9 S
J | AT I AW Ughd 3R 7S % ON % IR H TEU FH A7 | IeH TAHE
grfifeafaeh aifeafaa 3R 3! Ja STevIshaaR auiad, Wiosd, 16 Ja
3 S ST GUEY o Ak diieh faehiyd ot foTw 9 | Y8l 3R vadia &= o
A A A el FA (ufvet fewre) et arfeeeid, A€ A 9™ 1 T
SRt Wdl § fGam & fou aa18 2 | ufvenft vra, foive Toeem ° 9 &t
ST Ueh{zd i o [T ‘B 991 STdT UG <kl aiiehT 379 o7 |

(36.1) 9Rd H Wh fopu U fopedl @ WOmTd Tl TR & ekl Wl Sooid

$||\3Q | 1
(36.2) USRI o AN INIIA T fohT ThR IUINT hid 3 ? 1
(36.3) IUISTA GUGYT o foheal al TTHI shl SATEAT <hIFT | 2x1=2

Wus o
(ATt vt sl weA) (2+3=5)

37. (%) WWA o T TC TSI WI-AFRS (I8 23 W) H & TIH A X B
w9 § cune U g | efaRagd SHe i ggEdr ¥ 3= ggeiET 31
39k TE! A9 3Tk gHIT Gl T8 Wgrett 3w fafgu -

(i) 98 TIH S|l TSt 5 T9eh i qrel | 1
(i) 98 TIF & IR TS SiE 1 AAfewe R, 1920 § gan
o | 1
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(35.1) When was the first cotton mill set up in India ? 1

(35.2) Name any two early industrialists of India. L +£ =1

2 2
(35.3) How did many Indian entrepreneurs survive despite tight
economic controls imposed by the British Government ? Explain. 2

36. Read the given extract and answer the questions that follow :

In ancient India, along with the sophisticated hydraulic structures,
there existed an extraordinary tradition of water-harvesting system.
People had an in-depth knowledge of rainfall regimes and soil types and
developed wide ranging techniques to harvest groundwater, rainwater,
river water and flood water in keeping with the local ecological conditions
and their water needs. In hilly and mountainous regions, people built
diversion channels like the ‘kuls’ and ‘guls’ of Western Himalayas for
agriculture. Rooftop rainwater harvesting was very commonly practised

to store drinking water, particularly in Rajasthan.

(36.1) Mention any two methods of traditional water-harvesting used in

India. 1

(36.2) How do people of Rajasthan utilise rainwater ? 1

(36.3) Explain any two benefits of rainwater harvesting. 2x1=2
SECTION F

(Map Skill Based Question) (2+3=5)

37. (a) Two places A and B have been marked on the given political
outline map of India (on page 23). Identify them with the help of
the following information and write their correct names on the

lines drawn near them :
(1) The place where Gandhiji broke the salt law. 1

(ii))  The place where the session of the Indian National Congress
was held in September, 1920. 1

32/5/2 Bge P.T.O.
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(@) WRA & 3 ToFide Wr-aEg | Fefaiaa @ @ 6l &7 &
39k gl & guIse o 3eh A9 fofem - 3x1=3

(i) &0 -9y
(i) SR — RIS I @H

(iii) YO — TTFRR TENEh! uTeh

(iv)  TTehITe — TG aeH
qig:  HECIRaT J97 @acl GIRaTad qhemfear & g o7 G371 37 & T |
& 1 5x1=5
187 qier 39491 3 3T Ffaw |

(37.1) 39 TAM 1 AW TGy &l 7refist 4 7 g qrel |

(37.2) 3™ TH &1 9 faRgr S@f vrdla i wmw &1 sifesH
fordqra, 1920 H g311 o |

(37.3) 39 TSI &1 AW fIRaw wef <&t arg & 2 |

(37.4) 39 TSF o1 9 foiflgw ST St et Ht = fed § |
(37.5) UI G YIEfieh! qreh fohd s § fedrd 8 2

(37.6) 38 TS w1 AW faRaw Sigt qefteniier Tl oo feera 2 |
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(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(1) Tehri — Dam
(ii))  Bokaro — Coal mines
(iii) Pune — Software Technology Park

(iv)  Tuticorin — Sea port

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 37. 5x1=5

Answer any five questions.
(37.1) Name the place where Gandhiji broke the salt law.

(37.2) Name the place where the Indian National Congress session was
held in September, 1920.

(37.3) Name the state where Tehri dam is located.
(37.4) Name the state where Bokaro coal mines are located.
(37.5) In which state is the Pune Software Technology Park located ?

(37.6) Name the state where Tuticorin sea port is located.

32/5/2 21> S
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Uy |, 37 & foTu For question no. 37

i WRA T FGT-AHRE (I TeR)
My Outline Map of India (Political)

km Scale 1:15000,000 km
100500 100 200 300 400 500
[ — "~ — —

32/5/2 23> S

Get More Learning Materials Here : & m &) www.studentbro.in



Marking Scheme
Strictly Confidential

SET 32/5/2

(For Internal and Restricted use only)
Secondary School Examination,2023
SOCIAL SCIENCE (SUBJECT CODE 087)

General Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct assessment of the
candidates. A small mistake in evaluation may lead to serious problems which may affect the future of the
candidates, education system and teaching profession. To avoid mistakes, it is requested that before starting
evaluation, you must read and understand the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the examinations
conducted, Evaluation done and several other aspects. Its’ leakage to public in any manner could lead
to derailment of the examination system and affect the life and future of millions of candidates. Sharing
this policy/document to anyone, publishing in any magazine and printing in News Paper/Website etc
may invite action under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done according
to one’s own interpretation or any other consideration. Marking Scheme should be strictly adhered to and
religiously followed. However, while evaluating, answers which are based on latest information or
knowledge and/or are innovative, they may be assessed for their correctness otherwise and due marks
be awarded to them. In class-X, while evaluating two competency-based questions, please try to
understand given answer and even if reply is not from marking scheme but correct competency is
enumerated by the candidate, due marks should be awarded.

4 The Marking scheme carries only suggested value points for the answers
These are in the nature of Guidelines only and do not constitute the complete answer. The students can have
their own expression and if the expression is correct, the due marks should be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each evaluator on the first day,
to ensure that evaluation has been carried out as per the instructions given in the Marking Scheme. If there is
any variation, the same should be zero after delibration and discussion. The remaining answer books meant
for evaluation shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

6 Evaluators will mark( V') wherever answer is correct. For wrong answer CROSS X be marked. Evaluators
will not put right (v )while evaluating which gives an impression that answer is correct and no marks are
awarded. This is most common mistake which evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part. Marks awarded for different
parts of the question should then be totaled up and written in the left-hand margin and encircled. This may be
followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin and encircled. This may
also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more marks should be retained
and the other answer scored out with a note “Extra Question”.

10 | No marks to be deducted for the cumulative effect of an error. It should be penalized only once.
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11 | A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in Question Paper) has to be used.
Please do not hesitate to award full marks if the answer deserves it.

12 | Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day and
evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects (Details are
given in Spot Guidelines).This is in view of the reduced syllabus and number of questions in question paper.

13 | Ensure that you do not make the following common types of errors committed by the Examiner in the past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly and
clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)
e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 | While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as cross
(X) and awarded zero (0)Marks.

15 | Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by the
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the Board.
Hence, in order to uphold the prestige of all concerned, it is again reiterated that the instructions be followed
meticulously and judiciously.

16 | The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17 | Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title page,
correctly totaled and written in figures and words.

18 | The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the prescribed
processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again reminded that they
must ensure that evaluation is carried out strictly as per value points for each answer as given in the Marking
Scheme.
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SET-32/5/2 MARKING SCHEME-

SOCIAL SCIENCE (087) MM-80
Q.No. Marks
VALUE POINTS
SECTION A 1X20=20
(Multiple Choice Question)

1. | (a) Both Assertion(A) and Reason (R) are true and reason(R) is the correct

explanation of the Assertion(A) Pg.51 1
2.

(d) It does not allow room to correct mistakes. Pg.64 1
| @ 10060 Pg.9 1
* (©) 59% Pg.2 1
> @ T and II Pg.11 1
> (d) Primary sector specially unorganizedPg.20 1
" (¢) Organized sector Pg.30 1
> (d) The Reserve Bank of India Pg.48 1
> (d) United States of America Pg.58 1
o (d) Access information instantly across countries Pg.63 1
. (c) Economic System Pg.75 1
12.

(¢  Bible Pg.109 1
13.

(d)  Vallabhbhai Patel Pg.35 1
14. (b) She took part in the French revolution Pg.23 1
> (c) Commercial farming - Use of higher doses of modern inputs Pg.31 1
16' @ 1972 Pg.14 1
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17.
(b) ~ Mining Pg.6 1

18.
(®)  Sinhala Pe.3 1

19.
®) I,II, and IV Po.15-16 1

20.
(d) As per the constitution, religion can never be separated from politics. 1

Pg.36

SECTION B AX2=8

(Very Short Answers type question )

21.
How was India affected by the Great Depression of 1929? Explain. (2X1=2)

(i) The depression immediately affected Indian trade.
(i1)) India’s exports and imports nearly halved between 1928 and 1934.

(i11)) As international prices crashed,prices in India also plunged.(Between 1928 and
1934, wheat prices in India fell by 50 percent.)

(iv) Peasants and farmers suffered more than urban dwellers.

(v) Agricultural prices fell sharply, the colonialthe government refused to reduce
the revenue demand.

(vi) Peasants producing for the world market were the worst hit.

(vii) The depression proved less grim for urban India.

(viii) Due to falling prices, those with fixed incomes now found themselves better off.
(ix) Any other relevant point.Pg.96

(To be assessed as whole )

22,
(a)“Energy saved is energy produced”. Support the statement. (2X1=2)

(1) There is an urgent need to develop a sustainable path of development.

(i)  Promotion of energy conservation and increased use of
renewable energy resources are twin planks of energy
Conservation.

(iii))  Judicious use of limited energy resources.
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(iv)Reduce, reuse and recycling of resources.
(v)Stoppage of wastage of resources

(vi) Any other relevant point. Pg.55
(Any two points to be explained )
OR

(b) Why is there a pressing need to use non -conventional energy resources?
Explain.

(2X1=2)
(1) Limited availability of resources

(i1) The growing consumption of energy has resulted in depletion of fossil fuels.

(i1) Rising prices of oil and gas and their potential shortages have raised
uncertainties.

(ii1) Increasing use of fossil fuel has caused serious environmental problems.

(iv) Urbanization and industrialization
(v) Any other relevant point. Pg.54

(Any two points to be explained )

23.

“Communalism is harmful for the nation”.Explain. (2X1=2)
(i) When beliefs of one religion are presented as superior to those of other religions a

(i1) Communal politics is based on the idea that religion is the principal basis of
social community.

(i11)) Communalism leads to the belief that people belonging to different religions
cannot live as equal citizens in a nation.

(iv) People of one religion do not have the same interest and aspirations in every
context

Religious prejudices ,stereotypes of religious communities and belief in the superiority
of one's religions over other religions

(v)  Any other relevant point .Pg. 36-37
(Any two points to be explained )

24.

Suggest any two ways to create more employment in the rural sector. (2X1=2)

5|Page
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(1) Improved irrigation facilities so that farmers harvest two or three crops in one
year,thus more people can be employed.

(i1))  Provide better roads and improve transportation and storage, which will
benefit farmers so that people will be employed in these sectors.

(ii1))  Honey collection centers or vegetable and fruit processing units should be set
up.

(iv)  More cottage industries and services should be promoted in rural areas with
soft loans and marketing support.

(v)  More infrastructural and manufacturing facilities

(vi) Any other relevant point . Pg.27-28

(Any two points to be explained )

SECTION C 5X3=15

(Short Answer Type Questions )

25. | Describe the impact of flexibility in the labour laws on the workers in India.
(i )Flexibility in labour laws has badly affected workers. (3X1=3)
(i1)) MNCs employ them on a temporary basis to cut costs.
(i11)) They are not paid throughout the year.
(iv) During peak seasons, workers are made to work for long hours and night shifts.
(v) Workers are denied their fair share of benefits brought about by globalization.
(vi) Many a times workers get flexible working hours
(vii)Many labours are working in BPOs also
(viii) Any other relevant point. Pg. 69

(Any three points to be described )

26. | Why is road transport more important than the other means of transportation in India
? Explain.

(3X1=3)
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(1) Construction of roads costs much lower than that of railways
(11) Roadways can negotiate higher gradients of slopes

(iii))  Provides door-to-door services

(iv)  Used as a feeder for other means of transport

(v) It transports smaller amount of goods over short distances

(vi) Road transport is economical in transportation

(vii) cost of loading and unloading is much lower

(viii) Any other relevant point . Pg.82

(Any three points to be explained)

27. | (a) Explain any three effects of Non Cooperation Movement on the Indian economy.
i) Foreign goods were boycotted.

(i1) Liquor shops were picketed. (8X1=3)
(iii)  Foreign clothes burnt in huge bonfires.

(iv)Merchants and traders refused to trade in foreign goods.
v) People began discarding imported clothes and wearing only Indian ones.
(vi)  Production of Indian textile mills and handlooms went up.
(vil) Use of swadeshi goods
(viii) Import of foreign cloth halved.

(ix)Any other relevant point .Pg .34

(Any three points to be explained )

OR
(b) How was the Rowlatt Act opposed by the people of India ? Explain with three
examples.
(i) Rallies were organized in various cities.
(i1)) Workers strike in railway workshops.
(iii)) Shops were closed down.
(iv) Lines of communication such as railways and telegraph were disrupted
(v) Protests were organized for organizing support of Indians towards Britishers
(vi)Any other relevant point. Pg. 31

(3X1=3)

(Any three points to be explained )

28.

How is democracy accountable and responsive to the needs and expectations of (3X1=3)

7|Page
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the citizens? Analyze.
(i) Democracy gives chance to citizens to participate in decision-making
(i1)) Democracy ensures that decision-making is based on norms and procedures.

(i11)) In democracy citizens have the right and means to examine the process of
decision-making.

(iv) Democracy is an accountable, responsive and legitimate government
(v) Democracy ensuresregular, free and fair elections
(vi) Democracy can address socio economic and political problems.
.(vii) Democracy ensure that people will have the right to chose their rulers
(viii) Democratic governments are based on the idea of deliberation and negotiation
(ix) Any other relevant point . Pg. 65
( Any three points to be analysed )
29. (3X1=3)

How primary, secondary and tertiary sectors are dependent on each other?
Explain.

Primary Secondary and Tertiary sectors are interdependent as mentioned below :

(1) Primary sector activities produces goods by exploiting natural resources and
provide raw material to manufacturing sector

(i1) Secondary sector change natural products to final goods which are helpful to
primary and tertiary sectors ( machines, tools, etc.)

(i11). Tertiary sector provides services to primary and secondary sector. Activities
that help in the development of the primary and secondary sectors falls
under the tertiary sectors. These activities by themselves do not produce a
good but they are an aid or support for the production process for example
transport, storage, communication and banking.

(iv)  Any other relevant point. Pg.20
Any three points to be analyzed

SECTION D 4X5=20
(Long Answers Type Questions)

30. | (a) How does credit play a positive and negative role? Explain with examples.

It plays two roles-positive and negative (2%+2%

8|Page
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A.Positive role of credit:
(1) A large number of transactions in day to day activities involve credit
(11)The credit helps to meet the ongoing expenses of production

(111)Credit plays a positive role when the borrower is able to return the
loan amount on time and also makes some profit with the use of
that money.

(iv)it makes a person better off than before

(v)Any other relevant point

Any one point 1)
(vi)Any example could be given explaining the positive role of credit
1'%)

(Example of book: Salim, a shoe manufacturer took a loan from
different sources to complete the order of 3000 pair of shoes, in
the end he delivered the order, made profit and repaid the loan.)

(1+1 % =2%)
B- Negative role of credit:
(1) Sometimes failure of the crop makes loan repayment impossible

(i1)Sometimes credit is very painful as it pushes the borrower into such
a situation from which recovery is very difficult.

(111)In this situation the borrower is not able to repay the loan
(iv)Many times caught into the situation of debt-trap.

(v) To repay loan one has to sell portion of one's land

(vi)Any example could be given explaining the negative role of credit
(vii) Any other relevant point

Any point to be explained 1)
(vii1))Any example could be given explaining the positive role of credit
1'%)

(Example of book-A small farmer Swapna took loan for crop cultivation
but due to some reason she faced the situation of crop failure. So
she took another loan for spraying pesticides but the production

9|Page
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was not enough to repay the loan. So she was caught in debt-trap
(A+1 % =2%)
Pg.43-44)

OR

(b) What is collateral? Why is it a main reason to prevent the

poor getting a loan from banks? Explain. (1+4=5)
A- Collateral (1)
(1) Collateral is an asset that the borrower owns and uses this as a

guarantee to lenders until the loans are repaid. Property such as
land, deposits with banks, livestock are some examples of
collateral used for borrowing.

B- Why is collateral a main reason to prevent the poor getting a
loan from banks 4)

(11)  Absence of collateral with the poor.
(1)  Absence of documents with them.
(1iv)  Absence of formal sources of credit in rural area.
(v) Lack of education and awareness among them.
(vi) Lack of literacy

(vil) Any other relevant point Any other relevant point Pg 44-45
(Any Four points to be explained )

31. | (a)Explain any five factors affecting the location of industries.
(1) Availability of raw material

(5x1=5)
(i) Availability of labour

(ii1) Availability of capital

(iv) Availability of power

(v) Availability of market

(vi) Availability of services like banking,insurance,transport , etc

(vil) Any other relevant point. Pg.66
(Any five points to be explained )
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OR

(b) Explain any five causes of air and water pollution. (2+3=5)

A. Air pollution (2)

(1) Caused by the presence of high proportion of undesirable gasses such as sulphur-

dioxide and carbon monoxide

(1) Smoke is emitted by chemical and paper factories.

(i11)) Burning of fossil fuels.

(iv) Any other relevant point

(Any two points to be explained)

B. Water pollution (3)

(1)  Water pollution is caused by organic and inorganicindustrial wastes and affluent

discharged into rivers.

(1)  Paper, pulp, chemical dyeing etc are responsible for water pollution.

(iii)  Electroplating industries that let out acids,salts, heavy metals like lead and

mercury,pesticides makes the water polluted.

(iv) Synthetic chemicals with carbon, rubber, plasticetc makes the water polluted.

(iv)Fly ash,phospo gypsum and iron and steel slagsare the major solid wastes in India.
(v) Any other relevant point.Pg 78
(Any three points to be explained )
32. | (a) Explain the process of unification of Germany. 5)

(i)  Failure of the middle-class Germans to unite the different regions of the German
confederation into a nation-state in the year 1848 failed.

(i)  Then Prussia took on the leadership of the movement for national unification.
The chief minister Otto von Bismarck, the architect of this process, carried it out
with the help of the Prussian army and bureaucracy.

(ii1))  Three wars were fought over a span of about seven years against France,
Austria and Denmark.

(iv) Itended in Prussian victory and completed the process of unification

(v)  InJanuary 1871, the Prussian King William- I was proclaimed German emperor
in a ceremony held at Versailles. Pg 19

(To be assessed as a whole )

OR
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(b) How were the years of 1830°’s of great economic hardship in Europe? Explain.

(1) The half of the 19th century saw an enormous increase in population all over (6X1=5)
Europe.

(i1) In most countries there were more seekers of jobs than employment.

(i11) Population from rural areas migrated to the cities to live in overcrowded slums.

(iv) Small producers in towns were faced with stiff competitions from imports of cheap
machine made goods from England.

(v) In regions of Europe aristocracy still enjoyed power, peasants struggled under the
burden of feudal dues and obligations.

(vi) The rise of food prices or a year of bad harvest led to widespread pauperism in
town and country.

(vil) Any other relevant point. Pg.15

(Any five points to be explained)

33. | (a) Explain any five challenges faced by political parties in India. (6X1=5)

(i) Lack of internal democracy within parties.
(i1) Parties do not keep membership registers , do not hold organizational meeting
and do not conduct internal election regularly
(iii))  Dynastic succession.
(iv) Money and Muscle power.
v) Lack of decision-making process.
(vi) Lack of meaningful choice to the voters.
(vii) Lack of ideological differences among parties.
(viil) Any other relevant point Pg.57-58
(Any FIVE points to be explained )

OR

(b) Explain any five major functions of the political parties. (56X1=5)
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(i) Parties Contest Elections

(11) Parties put forward different policies and programs and the voters choose from
them

(111) They make laws.

(iv)Parties form and run government

(v) Function as opposition

(vi)Shape public opinion

(vii) Provide access to government machinery and welfare schemes.

(viii) Any other relevant point Pg.48-49

(Any FIVE points to be explained )

SECTION E 3X4=12
(Case-Based Questions)

34.

1+
CASE BASED QUESTION- BELGIUM’S POWER SHARING (Pg-2-3) 1+

(34.1)Explain the ethnic composition of Belgium. 1)

Total Belgium population- 59% live in the Flemish region and speak the
Dutch language. 40% live in the Wallonia region and speak
French. The remaining one percent of the Belgians speak
German.

(34.2) Explain the term ethnic . 1)

(1)The term ‘ethnic’ implies a social division based on shared culture.
People belonging to the same ethnic group believe in their common descent
because of similarities of physical type or of culture or both

(11) Any other relevant point

Any one point

(34.3)How did the Belgian government solve their ethnic problem?
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Explain. (2)

(1) Amended the constitution

(i1) Dutch and French speaking ministers shall be equal in the Central
government.

(111) Belgium established a Community government for different
linguistic communities.

(iv) Any other relevant point.
(Any two points to be explained )

35. 1+
1+
CASE BASED QUESTION: COTTON MILL IN BOMBAY (PG-94) =

(35.1)When was the first cotton mill set up in India. (1)
1854
(35.2)Name any two industrialists of India. (}2+%=1)
Dwarkanath Tagore, Dinshaw Petit, G.D. Birla

(Any two)

(35.3) How did many Indian entrepreneurs survive despite
tight economic controls imposed by the British government?
Explain. (2)
(1) Many Indians had the sufficient capital to trade with other countries.
(i) Many Indians worked through trade network

(111)They financed funds across cities.

(iv) They procured supplies and shipping consignment.

(v) Any other relevant point
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Any two points to be explained.

Pg. 94

36.

1+1+2=4

(CASE BASED QUESTION: WATER HARVESTING SYSTEM
(Pg-26-27)

(36.1)Mention any two methods of traditional water-harvesting
used in India. (‘2 +% =1)

(i) Inundation channels of Bengal.

(11) Khadins of Rajasthan

(i11) .Johads of Rajasthan.

(111)  Any other relevant point

ANY TWO

(36.2) How do people of Rajasthan utilize rainwater? (1)
(1) They have arranged underground tanks or tankas for storing water.

(11)) They have a well-developed roof top rainwater harvesting system (
palarpani) and were built inside the main house or courtyard.

(111) It 1s a reliable source of drinking water
(iv) It beats the summer heat as it would keep the room cool
(v) Any other relevant point

Any one point to be explained.
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(36.3) Explain any two benefits of rainwater harvesting. (2)

(i) Rainwater harvesting is used to meet peoples and regions water
needs.

(i1)) Rain water can be used by building diversion channels used for
agriculture.

(111) They can be stored as drinking water particularly in Rajasthan
(1v) Rainwater harvesting is used to maintain water in tanks.

(v) Rainwater harvesting is used to maintain room temperature through
tanks and ducting

(iv) Any other relevant point Pg 25

(Any two points to be explained )

SECTION F
(Map Skill Based)

37 (a) and (b) SEE ATTACHED MAP

(1+1=2)
1. History (3X1=3)
2. Geography (Attempt any three)
For Visually Impaired Candidates .- ( Attempt any five)
(37.1) Name the place where Gandhi ji broke the Salt Law —Dandi (5X1=5)

(37.2)Name the place where the Indian National Congress Session was held inSeptember
1920 -Calcutta

(37.3) Name the state where the Tehri Dam is located- Uttarakhand

(37.4)Name the state where Bokaro coal mines are located- Jharkhand

(37.5) In which state is the Pune Software Technology Park located?--Maharashtra

(37.6) Name the state where Tuticorin Seaport is located?---Tamil Nadu
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